
ex:John

ex:denkt

rdf:subject

ex:Jung

rdf:type

ex:finden

rdf:predica
te

rdf:object

ex:Spiel

rdf:type

ex:Leicht

rdf
:su

bje
ct

rdf:predicate

rdf:object

This is the complete solution. Lets go again through it. First "John thinks something". This 
something is that there is some Jung i.e., there is some one of type Jung. What does john 
thinks about this something? Well that it finds the game easy thus we have that Spiel is type 
of Leicht (Leicht here represents class of things which are Leicht.)


